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Old Syllabus

Time : 3Hrs. Sem - VI- C.S.E.   
Java

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Write a program in Java to add any two numbers 

using single level inheritance.

Write a program in Java to subtract any two 

members using single level inheritance.

equation.

7.

8.

                 GROUP  - C

8 x 5 = 40
Answer all Five Questions.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

Which statement is true regarding object 

oriented program.

(a) Object is a function

(b) Object is a variable

(c) Object is an inheritance

(d) Object is an instance of a class

Object-oriented inheritance models?

(a) Is a kind of relationship

(b) Is not a kind of relationship

(c) Wanted to be relationship

(d) None of the above

6.

4
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How does copy constructor work ? Explain it with 

an example. 

OT6018OT6018



1418605D

(iii)

(iv)

(iii)

(ii)

5.

(a) Exactly responding same message

(b) Different message

(c) Showing abstraction

(d) None of the above

of Java.

(a) Which object is automatically reclaimed in 

      the absence of object.

(b) When JVM is activate

(c) When constructor is executed

(d) None of the above

What do you by abstract class ? Explain it with 

example.

How you can set priority in threading in Java 

programming ? Explain with an example.

How does constructor class work ? Explain with 

an example.
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(iv)

(v)

(v)

(vi)

OR

OR

(a) One class is extended to another class
(b) One interface is extended to another class
(c) Multiple classes define a single class
(d) None of the above

(a) It does not make a sense to have object 
      of that class
(b) Packages are defined
(c) Packages are going to import
(d) None of the above
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4

2.

3.

P.T.O

Answer all Five Questions.
4 x 5 = 20

Write the features of Java programming.

Define object & Class with the help of sample 

examples.

What do you mean by Java virtual machine? 

Explain.

used in Java programming. 
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(vii)

(vii)

(viii)

(vi)

(xx)

(xx)

Java packages are defined with the help of

(a) Classes and variables

(b) Editing tools

(c) Classes and interfaces

(d) Polymorphism

in which of the following Java packages.

(a) Java.lang

(b) Java.io

(c) Java.Net

(d) Java.util

18605D
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To prevent any method from over riding we 

declare a method as.

(a) Final

(b) Static

(c) Abstract

(d) None of the above
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(viii)

(ix)

(ix)

(a) Only applicable for single class
(b) Only applicable for polymorphism
(c) Depends upon usability & applicability
(d) None of the above

of a class in Java is.
(a) 0
(b) 1
(c) Garbage Value
(d) Null

Java.io

java.lang package.
(a) List
(b) Queue
(c) Math
(d) Process

flush ( ) ?
(a) Output stream
(b) Input stream
(c) Reader stream
(d) Input -Output stream

18605D

(x)

(xviii)

(xviii)

(xix)

(xix)

P.T.O
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File classes is included in which package.

(a) Java. lang package

(b) Java. util package

(c) Java. io package

(d) Java. net package

life cycle of an applets

(a) init, start, stop, destroy

(b) start, init, stop, destroy

(c) destroy, start, init, stop

(d) start, destroy, stop, init

Which one of these is a valid method 

declaration.

(a) Void methodx

(b) Void methodx()

(c) 2 void method()

(d) None of above

(a)  Class link ( )

(b) Abstract class link ( )

(c) Final class link ( )

(d) None of the above

(xi)

(xi)

(xii)

(x)

18605D

(xvi)

(xvii)

(xvii)

(xvi)

P.T.O
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Which one is the true statement regarding 

finalize ( ) method

(a) Use for memory address

(b) Count no of objects

(c) Finalize ( ) method can be overloaded

(d) None of the above

Which is the return type of method get ID ( ) 
defined in Awtevent class.
(a) Object
(b) Long
(c) Float
(d) Int

thread to die.
(a) The method sleep ( ) is called
(b) The method wait ( ) is called
(c) The method start ( ) is called
(d) The method run ( ) is called to end 
      execution

(xiv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)

18605D

(xv)

P.T.O

OT6018OT6018



17 18605D

P.T.O

1718605D

P.T.O

OR

OR

Write a program to find roots of any cubic equation.

Write a program in Java to implement "function 

call by value" or function call by reference.

between do-while & while loops.

do-while 

inheritance. 

9.

8

10.

8

OR

OR

Write a program to find roots of any cubic equation.

Write a program in Java to implement "function 

call by value" or function call by reference.

between do-while & while loops.

do-while 

inheritance. 

9.

8

10.

8
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11.

Write a program in Java to implement concept 

of interface.

uses defined package ? Explain it with an example.

of any Java program?

***

1818605D

OR

OR

8

11.

Write a program in Java to implement concept 

of interface.

uses defined package ? Explain it with an example.

of any Java program?

***
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